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Ejercicios	
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Completa	
  el	
  texto	
  de	
  Descartes	
  
	
  
El argumento ontológico en las Meditaciones 
 
Instrucciones:	
  
	
  
De	
  las	
  16	
  palabras	
  siguientes,	
  ordenadas	
  por	
  orden	
  alfabético,	
  sólo	
  12	
  
corresponden	
  a	
  los	
  espacios	
  que	
  debes	
  rellenar.	
  Hay,	
  por	
  lo	
  tanto,	
  4	
  que	
  no	
  
corresponden	
  a	
  ninguno	
  de	
  los	
  espacios	
  que	
  debes	
  rellenar.	
  

Ejercicio:	
  

"ángulos,	
  comprendida,	
  consecuencia,	
  demostración,	
  equidisten,	
  esencia,	
  
examinando,	
  existe,	
  existencia,	
  forma,	
  matemática,	
  pero,	
  rectos,	
  suponiendo,	
  
sustancia,	
  triángulo"	
  

“Estimaba	
  correcto	
  que,	
  (1)__________	
  un	
  triángulo,	
  entonces	
  era	
  preciso	
  que	
  sus	
  
tres	
  (2)__________fuesen	
  iguales	
  a	
  dos	
  rectos;	
  (3)__________	
  tal	
  razonamiento	
  no	
  me	
  
aseguraba	
  que	
  existiese	
  (4)__________	
  alguno	
  en	
  el	
  mundo.	
  Por	
  el	
  contrario,	
  
(5)__________	
  de	
  nuevo	
  la	
  idea	
  que	
  tenía	
  de	
  un	
  Ser	
  Perfecto,	
  encontraba	
  que	
  la	
  
(6)__________	
  estaba	
  comprendida	
  en	
  la	
  misma	
  de	
  igual	
  forma	
  que	
  en	
  la	
  del	
  triángulo	
  
está	
  (7)__________	
  la	
  de	
  que	
  sus	
  tres	
  ángulos	
  sean	
  iguales	
  a	
  dos	
  (8)__________	
  o	
  en	
  la	
  
de	
  una	
  esfera	
  que	
  todas	
  sus	
  partes	
  (9)__________	
  del	
  centro	
  e	
  incluso	
  con	
  mayor	
  
evidencia.	
  Y,	
  en	
  (10)__________	
  ,	
  es	
  por	
  lo	
  menos	
  tan	
  cierto	
  que	
  Dios,	
  el	
  Ser	
  Perfecto	
  ,	
  
es	
  o	
  (11)__________	
  como	
  lo	
  pueda	
  ser	
  cualquier	
  (12)__________	
  de	
  la	
  geometría.”	
  



	
   2	
  

	
  
	
  
Solución:	
  
	
  
1. 	
  	
  	
  suponiendo	
  
2. 	
  	
  	
  ángulos	
  
3. 	
  	
  	
  pero	
  
4. 	
  	
  	
  triángulo	
  
5. 	
  	
  	
  examinando	
  
6. 	
  	
  	
  existencia	
  
7. 	
  	
  	
  comprendida	
  
8. 	
  	
  	
  rectos	
  
9. 	
  	
  	
  equidisten	
  
10. consecuencia	
  
11. existe	
  
12. demostración	
  
	
  

Toda	
  la	
  frase	
  

"Estimaba	
  correcto	
  que,	
  suponiendo	
  un	
  triángulo,	
  entonces	
  era	
  preciso	
  que	
  sus	
  
tres	
  ángulos	
  fuesen	
  iguales	
  a	
  dos	
  rectos;	
  pero	
  tal	
  razonamiento	
  no	
  me	
  aseguraba	
  
que	
  existiese	
  triángulo	
  alguno	
  en	
  el	
  mundo.	
  Por	
  el	
  contrario,	
  examinando	
  de	
  nuevo	
  
la	
  idea	
  que	
  tenía	
  de	
  un	
  Ser	
  Perfecto,	
  encontraba	
  que	
  la	
  existencia	
  estaba	
  
comprendida	
  en	
  la	
  misma	
  de	
  igual	
  forma	
  que	
  en	
  la	
  del	
  triángulo	
  está	
  comprendida	
  
la	
  de	
  que	
  sus	
  tres	
  ángulos	
  sean	
  iguales	
  a	
  dos	
  rectos	
  o	
  en	
  la	
  de	
  una	
  esfera	
  que	
  todas	
  
sus	
  partes	
  equidisten	
  del	
  centro	
  e	
  incluso	
  con	
  mayor	
  evidencia.	
  Y,	
  en	
  consecuencia	
  
,	
  es	
  por	
  lo	
  menos	
  tan	
  cierto	
  que	
  Dios,	
  el	
  Ser	
  Perfecto	
  ,	
  es	
  o	
  existe	
  como	
  lo	
  pueda	
  ser	
  
cualquier	
  demostración	
  de	
  la	
  geometría."	
  


